Problem Solving

. Courtney buys 5 flower pots at the flower shop. Each pot costs $3.00 How
much did Courtney spend in all for the 5 flower pots?
Show your work.

Answer:

. Pandora had 20 blueberries. She shared her blueberries equally with her
4 friends. How many would each of her friends get?
Show your work.

ANnswer:

. Ed had 15 crayons. He shared them equally with his 3 friends. How many
would each friend get?
Show your work.

ANnswer:

. Paige has 3 fish tanks. She goes to the fish store and buys 3 packs of
shrimp which cost $5.00 each. How much did Paige pay?
Show your work.

Answer:
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